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sSSZ A 1,923,636 2,404,138 A480,502
Areed 2= 25t s& =4 1,923,636 2,404,138 480,502
DIHE Hd=ote XY Sdl=sg RS (s (01 860,962 983,138 AN122,176
SANr=LEASHS|H)
IS NrsHSEAIE 282t 9,000 10,000 A1,000
201 2| 9,000 10,000 A1,000
01 ArR2eltl 9,000 10,000 21,000
OJIGRIMTsHERAY S 2|
Z2& 9,000,000& 9,000 10,000 21,000
LTS ADEZ A= K& At 392,040 513,216 A121,176
402 QIZERH=0IN 392,040 513,216 A121,176
01 QIZFXHE AL B (KR THE) 392,040 513,216 A121,176
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ASH5|H)
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OFE=YOl AQIER XI2IAY
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ADIE HAetE T4 (SARSHOIgRIN+-sHa2 481,800 493,000 211,200
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Ounltt AIZEHl S5
Z& 79,200,000& 79,200 90,000 210,800
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14 JIEt2 43 170,000 200,000 230,000
O MAD|BE QLR SHALY
23 170,000,000& 170,000 200,000 230,000
A 018 2838t At 33,600 42,000 28,400
402 QIZ2ERHE0IE 33,600 42,000 28,400
01 QIZFXHE AL B (KEI THE ) 33,600 42,000 28,400
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Z & 33,600,000& 33,600 42,000 A8,400
MEX=E SR X3 38,000 0 38,000
301 LB NZ 38,000 0 38,000
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